FIRST AMENDMENT TO AGREEMENT BETWEEN ALACHUA COUNTY AND WITH STRYKER SALES LLC, NO. 13974

THIS First AMENDMENT ("Amendment") is made by and between Alachua County, Florida, a political subdivision and charter county of the State of Florida, by and through its Board of County Commissioners (the "County") and STRYKERS SALES LLC, a Foreign Limited Liability Corporation which is authorized to do business in the State of Florida ("Contractor"), who are collectively referred to as the "Parties".

WITNESSETH:

WHEREAS, the Parties previously entered into an Agreement dated December 15, 2023 for medical equipment service and maintenance, identified by No. 13974 (the "Agreement"); and

WHEREAS, the County has elected its option to renew the term of the original Agreement to allow the Contractor to furnish the goods or service to Alachua County; and

WHEREAS, the Parties desires to amend the Agreement to extend the term and to do as otherwise provided herein.

NOW, THEREFORE, the County and Contractor agree to amend the Agreement as follows:

- A. <u>Amendment</u>. In accordance with the updated Stryker quote attached to the Amendment to term of the Agreement is extended through September 30 2025.
- B. <u>Amendment</u>. In accordance with the updated Stryker quote attached to the annual cost of the Agreement for the period of October 1, 2024 through September 30, 2025 is \$62,289.48
- C. <u>Effective Date</u>. This Amendment shall be effective upon execution by both Parties
- D. <u>Original Agreement</u>. Unless expressly amended herein, all other terms and provisions of the original Agreement between the Parties, including any prior amendments to the Agreement, shall be and remain in full force and effect. In the event any of the prior amendments to the Agreement conflict with this Amendment, the provisions of this Amendment shall prevail.

IN WITNESS WHEREOF, the Parties have caused this Amendment to be executed on the day and year below written.

ALACHUA COUNTY, FLORIDA

	By: Mary C. Alford, Chair Board of County Commissioners		
	Date:		
ATTEST	APPROVED AS TO FORM		
J.K. "Jess" Irby, Esq., Clerk (SEAL)	Alachua County Attorney's Office		
	CONTRACTOR		
	By:		
	Title: Sr. Sales Manager		
	Date: 11/14/24		

IF THE CONTRACTOR IS NOT A NATURAL PERSON, PLEASE PROVIDE A CERTIFICATE OF INCUMBENCY AND AUTHORITY, OR A CORPORATE RESOLUTION, LISTING THOSE AUTHORIZED TO EXECUTE AGREEMENTS ON BEHALF OF YOUR ORGANIZATION. IF ARE A NATURAL PERSON, THEN YOUR SIGNATURE MUST BE NOTARIZED.

*s*tryker

1 Year PLT, BATT, PM

Quote Number: 10980250

Version: 1

Prepared For: ALACHUA COUNTY FIRE RESCUE SVCS

Attn:

Rep: Email: Meredith Roberts

Thomas Pontius

tom.pontius@stryker.com

Phone Number:

Service Rep:

Email:

GPO: Savvik

Quote Date: 11/12/2024

Expiration Date: 12/27/2024

Contract Start: 10/01/2024 Contract End: 09/30/2025

Delivery Address		Sold To - Shipping		Bill To Account	
Name:	ALACHUA COUNTY FIRE RESCUE SVCS	Name:	ALACHUA COUNTY FIRE RESCUE SVCS	Name:	ALACHUA COUNTY FIRE RESCUE
Account #:	20033137	Account #:	20033137	Account #:	20032639
Address:	5900 NW 13TH ST	Address:	5900 NW 13TH ST	Address:	911 SE 5TH ST
	GAINESVILLE		GAINESVILLE		GAINESVILLE
	Florida 32653		Florida 32653		Florida 32601-8011

ProCare Products:

#	Product	Description	Months	Qty	Sell Price	Total
1.0	STR-CHAIR-PROCARE	PROCARE-SVC-STAIR-CHAIR √Parts, Labor, Travel √Preventative Maintenance	12	22	\$244.00	\$5,368.00
2.0	POWERLOAD-PROCARE	PROCARE-SVC-POWER-LOAD √Parts, Labor, Travel √Preventative Maintenance √Batteries Service	12	14	\$1,818.40	\$25,457.60
3.0	STR-CHAIR-PROCARE	PROCARE-SVC-STAIR-CHAIR √Parts, Labor, Travel √Preventative Maintenance	12	2	\$244.00	\$488.00
4.0	STR-CHAIR-PROCARE	PROCARE-SVC-STAIR-CHAIR √Parts, Labor, Travel √Preventative Maintenance	12	3	\$244.00	\$732.00
5.0	POWERPRO-PROCARE	PROCARE-SVC-POWERPRO √Parts, Labor, Travel √Preventative Maintenance √Batteries Service	12	17	\$1,279.20	\$21,746.40
6.0	POWERPRO-PROCARE	PROCARE-SVC-POWERPRO √Preventative Maintenance	12	6	\$305.00	\$1,830.00
7.0	POWERLOAD-PROCARE	PROCARE-SVC-POWER-LOAD 11/01/2024 - 09/30/2025 √Parts, Labor, Travel √Preventative Maintenance √Batteries Service	11	4	\$1,666.87	\$6,667.48
			ProCare Total:			\$62,289.48

Price Totals:

1

This is not an Invoice

Equipment Service Plan

	<u>Equipment Service Fia</u>	<u> </u>
Line Item #	Model	Serial #
1.0	PROCARE-SVC-STAIR-CHAIR	050739855
1.0	PROCARE-SVC-STAIR-CHAIR	050739856
1.0	PROCARE-SVC-STAIR-CHAIR	090941136
1.0	PROCARE-SVC-STAIR-CHAIR	080539840
1.0	PROCARE-SVC-STAIR-CHAIR	080539835
1.0	PROCARE-SVC-STAIR-CHAIR	131240898
1.0	PROCARE-SVC-STAIR-CHAIR	090941135
1.0	PROCARE-SVC-STAIR-CHAIR	120439730
1.0	PROCARE-SVC-STAIR-CHAIR	150440008
1.0	PROCARE-SVC-STAIR-CHAIR	040740004
1.0	PROCARE-SVC-STAIR-CHAIR	050540497
1.0	PROCARE-SVC-STAIR-CHAIR	090941137
1.0	PROCARE-SVC-STAIR-CHAIR	080539839
1.0	PROCARE-SVC-STAIR-CHAIR	150440009
1.0	PROCARE-SVC-STAIR-CHAIR	080539842
1.0	PROCARE-SVC-STAIR-CHAIR	080539837
1.0	PROCARE-SVC-STAIR-CHAIR	150440010
1.0	PROCARE-SVC-STAIR-CHAIR	180539498
1.0	PROCARE-SVC-STAIR-CHAIR	080539841
1.0	PROCARE-SVC-STAIR-CHAIR	080539836
1.0	PROCARE-SVC-STAIR-CHAIR	080539843
1.0	PROCARE-SVC-STAIR-CHAIR	080539838
2.0	PROCARE-SVC-POWER-LOAD	2211012400317
2.0	PROCARE-SVC-POWER-LOAD	2112012400304
2.0	PROCARE-SVC-POWER-LOAD	2212012400351
2.0	PROCARE-SVC-POWER-LOAD	2211012400245
2.0	PROCARE-SVC-POWER-LOAD	2301012400007
2.0	PROCARE-SVC-POWER-LOAD	2112012400006
2.0	PROCARE-SVC-POWER-LOAD	2211012400141
2.0	PROCARE-SVC-POWER-LOAD	2112012400192
2.0	PROCARE-SVC-POWER-LOAD	2212012400456
2.0	PROCARE-SVC-POWER-LOAD	2301012400060
2.0	PROCARE-SVC-POWER-LOAD	2112012400186
2.0	PROCARE-SVC-POWER-LOAD	2301012400009
2.0	PROCARE-SVC-POWER-LOAD	2301012400046
2.0	PROCARE-SVC-POWER-LOAD	2112012400194
3.0	PROCARE-SVC-STAIR-CHAIR	160339027
3.0	PROCARE-SVC-STAIR-CHAIR	160339026
4.0	PROCARE-SVC-STAIR-CHAIR	080539803
4.0	PROCARE-SVC-STAIR-CHAIR	080539804
4.0	PROCARE-SVC-STAIR-CHAIR	080539806
5.0	PROCARE-SVC-POWERPRO	170939776
5.0	PROCARE-SVC-POWERPRO PROCARE-SVC-POWERPRO	120839915
5.0	PROCARE-SVC-POWERPRO	1909003500062
5.0	PROCARE-SVC-POWERPRO PROCARE-SVC-POWERPRO	1908003500002
5.0	PROCARE-SVC-POWERPRO PROCARE-SVC-POWERPRO	130640364
5.0	PROCARE-SVC-POWERPRO PROCARE-SVC-POWERPRO	1909003500060
5.0	PROCARE-SVC-POWERPRO PROCARE-SVC-POWERPRO	1908003500667
5.0	PROCARE-SVC-POWERPRO	1300003300001

5.0	PROCARE-SVC-POWERPRO	1908003500670
5.0	PROCARE-SVC-POWERPRO	1901003500223
5.0	PROCARE-SVC-POWERPRO	160939598
5.0	PROCARE-SVC-POWERPRO	1909003500061
5.0	PROCARE-SVC-POWERPRO	1909003500059
5.0	PROCARE-SVC-POWERPRO	1908003500668
5.0	PROCARE-SVC-POWERPRO	1908003500671
5.0	PROCARE-SVC-POWERPRO	1908003500676
5.0	PROCARE-SVC-POWERPRO	1908003500666
5.0	PROCARE-SVC-POWERPRO	1901003500224
6.0	PROCARE-SVC-POWERPRO	2307000095
6.0	PROCARE-SVC-POWERPRO	2307000097
6.0	PROCARE-SVC-POWERPRO	2307000107
6.0	PROCARE-SVC-POWERPRO	2307000065
6.0	PROCARE-SVC-POWERPRO	2307000527
6.0	PROCARE-SVC-POWERPRO	2306002666
7.0	PROCARE-SVC-POWER-LOAD	2307012400131
7.0	PROCARE-SVC-POWER-LOAD	2308012400135
7.0	PROCARE-SVC-POWER-LOAD	2309012400280
7.0	PROCARE-SVC-POWER-LOAD	2304012400269